
介入放射学杂志 � � �  年 第 ! 卷 第 ∀ 期
·

� # �
·

∃ %&∋( )∗ + , − 一. + /− 0− 1加 0一取0 0− 20 2/30∋ 4 /∗ 5)6 7 ( 8 +2 &/90 , &∋ 0 )+ ∋ 3 06

∗ 1 5∋ 0: ; ∋ ∗ 0 0− + ∋ 0 0 3( 2+ ( &/∗ , 5∋ ( 0 &/0 0 ) ( , − 9∗ 8 52/0 ( &/∗ , ∋ ( &0)

<
=

>
=

刀葱? &口活滋
,

≅
=

≅ <
=

Α(∋ 娜如/&
,

Β
=

尸
=

Α∗ 2溯砧。

Χ
=

去滋溯
. 无/“

,

∋
=

材叮
刀汉方& 卞 ,

>
=

? ( 28 ‘牛Δ ,

五
,

?∗ 28/
弓生 “”己 Ε

=

石
=

,

Α
=

Φ汉众0硬

尺口户(9 咖/艾艾

2)& <0− 幼( 2 Γ 如/)蜘
,

Ε “￡犷配儿忿叮成。. 6 ∃,/&
,

Η ∗)对以 ∗1 尸Ι
,
ϑ(

,

<0− /9 (2 耽− Ε () &∋ ∗ 0 , Ι

扮阳Κ咭少 。动/9
,

饰Ι 仰 ∗1 Λ ∗ 2∗ . ” ( , & ∃碗 ∗1 2”10
0 &/∗+

, Γ 婉() 0)
,

Η
∗ ?
声&以 ∗1 > ∋ 0ϑ ϑ Μ ,

七
口‘&
∋∗0 ,& 0 犷∗ 20 . 6 Γ 细‘众脚

,

9 ( )(  Ν �坛州 Ν − 022( ? ∗
1石甲翻ϑ( Η Μ)

神
( 2

,

)(
, Ε 比切 口。/ Ο “∗ ” :

−∗
,

竹)& < 0− /9 以 Γ 加钻勿, ,

Η ∗) 洲忿
( 2 ∗1 尸趾亡∋ ( ≅ /.

+ ∋0
, 讹 ϑ”介

‘&
ϑ∗+

, Γ 台0() 0) Α% 认 /9
,

?(
,

<“
一

&0∗ Η ∗)沁以
,

∃碗0∋) /&6 ∗1 5( 碗
, 工)& Π Γ0 5( 月

Ι
,

9∗&
+ . ”Μ

Η ∗) 5= ( 2 介
∋
2, 10 “初砚‘ 刃公

Ι

Ι
,

刃
‘
川“

,

“ Γ 05

Ι
∗1 Ο (− /∗ 2∗ . 创

,

月“户= 以 ∗1 3俪呢
∋
诩&0

, 十& Ε ()&
∋

哪0∋∗2∗ .6 ∃:

,/&
,

月“乒只之∗1 > 2’0

ϑϑ∗
,

八 材心以如� Γ /3

枷
 ‘刀&’Ν 叮加灿 月哪对

口 2
,

Λ

Ι
,

曰 Ε ( ∀ &∋ ∗
动

:

&0 ∋∗ 20 .6 ∃, /&, ?(,&
,
。∋ ‘

∗2( <
( 25/. 爪 万叱户穿以

,

召。动 . , ( ,

“
己

而(2 Α 22’, 众
,

‘翻
己之石 月仍琳

口2,

Α( &Π ∗2众 ∃ ”初‘儿立6
,
尺侧呱 0 ,

%心6

?∃ <<> Ο Θ
=

> ) + ∋30 6 ∋0 ;∗∋ &
Ρ(

) 0 ∗ , − + 0 &0− (8 ∗ , . � Κ %&( 2/( , 0 0 , & ∋ 0 ) 0 Σ ;0∋ /
:

0 , 0 0− /, 1/, 0 一 , 0 0−20 4 /, ; )6 ∗1 &Π 0
2/3

0 ∋
=

Χ Π0 Τ + 0 ) &/, ,) 0 ∗ , 0 0∋
,0 −

7
�

=

&Π0 ; 0 ∋ :

1∗ ∋8 ( , 0 0 ∗ 1 /, 5(& /0 , & ∗∋ ∗ + &5( &/0 , & 1/, 0 一, 00− 20 4 /∗ 5)6 Δ Κ
=

&Π 0 5∗ 2/06 ∗ 1 ∋ ∗ + & /, 0

Π 08 ∗ ) &( &/9 03( 2+ ( &/∗ , Δ ∀
=

&Π 0 8 ( , (
.0 80

, & ∗1 ; ( &/0 , &) &( Υ/, . ( ) ; /∋ /, Δ !
=

&Π 0

, + 8 40 ∋ ∗ 1 4 /∗ ; )/0 ) ; 0 ∋

1∗∋ 8 0− (, − &Π0 − /( . , ∗ ) 0 ) ∗ 4& (/, 0− Δ  
=

&Π0 0 ∗ 8 ; 2/ 0 ( &/∗ , )

&Π( & ∗ 0 0 + ∋ ∋ 0− /, ∋ 0 2( &/∗ , &∗ 0 ∗( . +2 (& /∗ , & 0 ) & ) 3

(2+
0 )

·

Χ Π 0 ∋ 0 )+ 2& )

Ρ0
∋ 0 ( ) 1∗ 22∗ 3ς ) 7

�
=

� Ν ∗ + & ∗ 1 � Κ 0 0 , & ∋ 0 )
;0

∋1∗∋ 8 0− 4/叩
)/0 )

8 ( /, 26
∗ , ∗ + &; ( &/0 , &) Δ Κ

=

/, ∗ , 26 Κ ∗ 1 &Π 0 � Κ 0 0 , & ∋ 0 ) Ρ ( ) ( Π /) & ∗珊 /, 3 0 ) &/. ( &/, .

&Π0 ; ( &/0, & ’ Π 08 ∗) &(滋 0∗2 20 0 & 0− Δ (2 2 0 0,& ∋0 ) ∋
∗+ &/,0 26 ;0∋ 1∗∋ 8 0− 0 ∗ ( . + 2( &/∗ ,

& 0 ) & ) Δ &Π 0 8 ∗ ) & 1∋ 0Τ + 0 , & 0 ∗ 8 4/, ( & /∗ , /, 0 2+ − 0− 5∋∗ &Π∋∗ 8 4/, &/8 0 ,

; ( ∋ & /(2

&Π ∋

∗8 4 ∗ ; 2( )& /, & /8 0 ( , − ; 2(& 020 & 0 ∗ + , &
=

> 8∗
, . &Π0 0 0 , &∋ 0 ) ( . ∋ 0 ( & 3 ( ∋ /( 4/2/& 6

9∗,
0 0 ∋ , /, . &Π0 &0) & 3 ( 2+ 0) 0

∗, (/ −0∋0 − ) ( 10 面)& 0 − Δ ∀
=

/, � Ν ∗ 1 &Π 0 � Κ 0 0 , & ∋0 )

4/∗ ; )6 Ρ ( ) , ∗ & − 010 ∋ ∋ 0 − /1 &Π 0 ; ( &/0 , & Ρ ( ) &( Υ/, . ( ); /∋ /, Δ !
=

&Π0 ( 8 ∗ + , & ∗ 1

4/∗5
)/0 ) 50 ∋ 1∗ ∋ 8 0− Ρ ( ) � �  Ω ∗ , ( &∗ & (2 ∗1 Ω Κ Ω � 5( &/0, &)

,

8 ( /, 26 /, − /( . , ∗ )/, .

8 (2/. , ( , & 壬∗9 (2 2/30 ∋ 20 )/∗ , ) Δ  
=

/, Κ ∗ + & ∗1 Ω Κ Ω � ; (& /0 , & ) ΞΝ
=

Ν ∀ Ψ Ζ420 0 − /, .

0 ∗ 8 ; 2/0 ( & /∗ , ) Ρ 0 ∋ 0 1( & (2 ( , − /, # ∗ + & ∗ 1 Ω Κ Ω � ΞΝ
=

� ∀ Ψ Ζ, ∗ ,
一

1( &( 2 4 + & ) /. , /1/0 ( , &
=

Λ0 )/− 0 ) Π08
∗ )& ( &/0 − 0 0

∗8 50 , ) ( &/∗ ,
,

1( 0 &∗∋ ) /, 3 ∗ 23 0 − /, &Π 0 ∋ /)Υ ∗1 5∗ ) &一4 /Μ 5)6

420 0 − /, . Ρ 0 ∋0 &Π0 &6卯
∗ 1 &Π0

20) /∗, Ξ8 ( 2/ . , ( , & ∗∋ Π0 8 (

馆/∗8
( & ∗ + )Ζ ( , − &Π 0 0 ∗ :

0 Σ /)& 0 , 0 0 ∗ 1 0 /∋ ∋ Π∗ )/)
=


